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The ability to roll one's tongue is a dominant
trait. The Punnett square is a visual summary
of the possible combinations of the alleles for
the tongue -rolling trait. In the figure bellow,

a—nw.hwf
T= 1o roll
,_ﬂ,;‘:_ d—n?l..hw,-.-d
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How many chromosomes would a cell have
during metaphase | of meiosis if it has 12
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Use the hypothetical cell shown to
answer the following
question: What is the ratio of the
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It 2 plant cell completes the cell cycle in 24 3 Ay A0 Bypal 4005 A8 Jlas) S 13
24 hours, how many plants cells will be Eand L o G5 D DAY e a5 el
produced in a week?
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In garden peas, the trait of purple flowers i
(F) are dominant to white ( p) flowers, and (4 dlity (p) sliagd Sl ddes & il
tall plants (T) are dominant to short plants (1 ) byl Gl e Bullu (T) Ayl A
m.I-wﬂehIIpimt(Pth]hcmu&d &.{Ppﬂjwvwdﬁﬂﬁw. |

with a white short plant ( pptt), what is the AR LD i e (PPM) ) e i |
resulting phenotypic ratio of the offspring? o |

purple tail 1o purple shor
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is a characteristic of cancer cells?
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